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The wave set: [(]
Generated amplitudes are
* S0/ay(980 MeV)
 P1/m,(1600 MeV) (exotic)
« D1/a2 (1320 MeV)
« D1/a2’ (1700 MeV)
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Procedure
For the wave set [1]7(7?1( = {S ) PO(J{),D&)Z}R with M>=0
’ =0

1. Fit intensity to find partial waves using AmpTools.
2. Calculate moments in terms of partial waves

H°(00) = H'(00) + 2 [|P{"2 + |D{V|? + | DS P2]

[ ] ([ ] ([ ]
H1(22) HO(QQ \/_|D(+)| \/_|P(+ I

3. Compare resuits rrom two amerent TITS
* Fit 1 :fit with true wave set using good starting values for production coefficients (fit parameters)

* Fit 2: fit with true wave set using 1 for starting values of production coefficients
4. Compare these results to moments obtained by weighting each event by corresponding intensity as defined

in Mathiew et al.

H°(LM) = e /I Q, ®) dyso(0) cos Mo,
HY(LM) = /I(Q d) dk,,(6) cos M cos 2,
Im H*(LM) /I (22, ®) df;,(6) sin M ¢ sin 2,

with [ = (1/7P,) [; sin6d6 [;" d¢ [~ dd

5. Compare to the moments calculated using Vincent’s codes.



Amplitudes used in fitting are SO-, PO+, P1+, DO+, D1+, D2+.
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Fit 1 results (fitting in M and t bins)
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Amplitudes used in fitting are SO-, PO+, P1+, DO+, D1+, D2+.
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Fit 2 results (fitting in M and t bins)
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Procedure

For the wave set [l](e) = {S(+) PO(J{),D(EJ;)Z}I{ with M>=0
=0

1. Fit intensity to find partial waves using AmpTools.
2. Calculate moments in terms of partial waves

H°(00) = H'(00) + 2 ||P{"[2 + |D{V|? + | DS 2]

e o o \/6

H'(22) = H°(22) + lele =P

3. Compare results from two dlfferent fits
* Fit 1 : fit with true wave set using good starting values for production coefficients (fit parameters)
* Fit 2: fit with true wave set using 1 for starting values of production coefficients
4. Compare these results to moments obtained by weighting each event by corresponding intensity as defined
in Mathiew et al.

HY(LM) = Py / 1(2, ®) d%;,(0) cos M ¢,
H'(LM) = /[(Q,(I)) do(0) cos Mo cos 2,
Im HX(LM) = / I(Q, &) d, o (6) sin M b sin 2,
with [ = (1/7P,) [y sin6do [;" d¢ [;" d®

5. Compare to the moments calculated using Vincent’s codes.
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Polarized moments calculated with partial waves
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Obtained by weighting events of data
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Polarized moments calculated with partial waves

0<t<0.3 (GeV/c)*  Calculated rom fitted amplitudes Obtained by welghtng events of data
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Polarized moments calculated with partial waves

0<t<0.3 (GeV/c)?

Calculated rom fitted amplitudes
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Polarized moments calculated with partial waves
Obtained by weighting events of data

Problem: HO_22 distribution is flipped sample

Solution: The normalization of the integral to be 1 flips the
distribution as integral is negative
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Procedure
For the wave set [1]7(7?1( = {S ) PO(J{),D&)Z}R with M>=0
’ =0

1. Fitintensity to find partial waves using AmpTools.
2. Calculate moments in terms of partial waves

H°(00) = H'(00) + 2 [|P{"2 + |D{V|? + | DS P2]

[ ] ([ ] ([ ]
H1(22) HO(QQ \/_|D(+)| \/_|P(+ I

3. Compare resuits rrom two amerent TITS
* Fit 1 :fit with true wave set using good starting values for production coefficients (fit parameters)

* Fit 2: fit with true wave set using 1 for starting values of production coefficients
4. Compare these results to moments obtained by weighting each event by corresponding intensity as defined

in Mathiew et al.

H°(LM) = e /I Q, ®) dyso(0) cos Mo,
HY(LM) = /I(Q d) dk,,(6) cos M cos 2,
Im H*(LM) /I (22, ®) df;,(6) sin M ¢ sin 2,

with [ = (1/7P,) [; sin6d6 [;" d¢ [~ dd

5. Compare to the moments calculated using Vincent’s codes.



Procedure
5. Compare to the moments calculated using Vincent’s codes.
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Polarized moments calculated with partial waves

0<t<0.3 (GeV/c)? Calculated rom fitted amplitudes Obtained by weighting events of data
x10° x10
- =5 sample
4%0 :_ H O OO 4505 H 1—00 8x107 , . p . ,
400 B 400 H1 00 o —
- Good starting values - : 707 | = -
350/ 8 350~ Good starting values| |
3002_ 300;_ 5,(107 L
2505_ 250;_ 4x107 | : :
200;_ 200;— 3x107 | HO 00
1505— 1502— ox107 | A
1005— 1005— 1x107
50 50/ 0 : : : : : :
- - 06 08 1 12 14 16 18 2
0 C 1 1 !I L1 ] |5 T 1 1 > ol 2|5 [T P P :; 0 C > ol 2|5 [T P T 3| m (GeV)
><103 200)(103
2001~ HO 10 - H1 10 45x10° R0 ——
180— i 4x106 |
160E Good starting values 180 . 356106 |
140 i Good starting values 3106 |
120 - 25x106 |
C 100
100 - 2x106 |
803— - 15x106 L
60:— 50__ 1x106 |
403_ i 500000 |
20 ;_ : 00.6 018 1I 1;2 1i4 1i6 118 2
O_ 3| O_I 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I m(GeV)
15 2 25 3

14



0<t<0.3 (GeV/c)?

Polarized moments calculated with partial waves
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Polarized moments calculated with partial waves

0<t<0.3 (GeV/c)?
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Calculated rom fitted amplitudes
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Obtained by weighting events of data
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